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(Government Of India)

QID : 101 - In the following question, select the related word from the given alternatives.

Goiter : Iodine : : Anemia: ?
rATaf@d e & fow 1w fashedt 7 & Gl g 1 v

oY1 : AAE ;TR ?
Options:

1) Vitamin D

erfaa &

2) Iron

dte

3) Vitamin E

afaas

4) Calcium

FHioTa

Correct Answer: Iron

dte

Candidate Answer: Vitamin E

AT §

QID : 102 - In the following question, select the related letter from the given alternatives.
DE:O::AF:?

rAfaf@d e & fow a1v fashedt # & Fefta 37ER I gfav)
DE:O::AF:?

Options:

1)H

2)K

3)J

4)1
Correct Answer: K
Candidate Answer: K

QID : 103 - In the following question, select the related number from the given alternatives.
56:41::94:?

ATl e & fow 1w fasheut # & Gaftia dear & giav|

56:41::94:?

Options:

1) 49

2) 53

3) 60

4) 89
Correct Answer: 49
Candidate Answer: 53


http://thepracticetest.in/cs_cglet1_17/logout.php?appid=1368062d74107fc05177712c90c3885c
http://164.100.129.99/challengesystem/sendrollno.jsp?rollno=3009057031&scode=104&key=363b9678c58fca36bcc9c8774aa9425b

QID : 104 - In the following question, select the odd word from the given alternatives.

TerATafae yeat o few 1w fashout 7 & fawe oree; 1 iav|
Options:

1) Beneath

AT

2) On top

HIH TR

3) Huge

faemer

4) Above

IW

Correct Answer: Huge
faemer

Candidate Answer: Huge

ratrer

QID : 105 - In the following question, select the odd letters from the given alternatives.

frafaf@a yea # v arv fashedt & & faws aeRt & gfw
Options:

1) MN

2) NM

3) 0L

4)ET

Correct Answer: ET

Candidate Answer: ET

QID : 106 - In the following question, select the odd number from the given alternatives.

TRy 9eaT & fou 91¢ fashoul & & fawer dean &1 giv|
Options:

1) 253

2) 473

3) 143

4) 633

Correct Answer: 633

Candidate Answer: 143

QID : 107 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Flinching
2. Flintlock
3. Flinpites
4. Flintlocks
5. Flinchers

ol ersal i ersaerer # 317 aTel i & AR fodd|

1. Flinching
2. Flintlock
3. Flinpites
4. Flintlocks
5. Flinchers

Options:
1) 15243

2) 51243
3) 51324

4) 51342
Correct Answer: 51324
Candidate Answer: 51324



QID : 108 - In the following question, which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?

_Yzaa _Yy__Xy_ aazy _
ATl gea 7 3R &1 it &1 Tofg Wrelh TUTAT R FHAAR [Wel F & 315 38R AT T QT HM?

—Yzaa_y_Xy_aazy_
Options:

1) xxzzx

2) xxaza

3) xzxzx

4) aazzx
Correct Answer: xzxzx
Candidate Answer: xxzzx

QID : 109 - In the following question, select the missing number from the given series.
19, 38, ?, 228, 684, 1368

TPraATaf@d gea o fow 1w fasheut 7 & oed 37 3 AT

19, 38, ?, 228, 684, 1368

Options:

1) 108

2) 113

3) 114

4) 138
Correct Answer: 114
Candidate Answer: 114

QID : 110 - There are five students - P, Q, R, S and T having different heights in a class. P's height is more than only one student. Q's height is more than S and P
but not more than R. S's height is more than P. R is not the smallest. Who is having the maximum height in the class?

Teh e H 9rg oTa1 - P, Q, R, S TUT T ¥ FaTS 31el9T-37619T & | P T FaTS hayel Ush o1F T 3OS &1 Q 1 Fa$ S q2m P A 310+ §, afhaT R @ 1A AT 81 S Fars P
T 3MF &1 R T BT 78T &1 FeT & Ty 31 Fars gy 87

Options:
1)Q

2)R
3)S

4HT
Correct Answer: R
Candidate Answer: R

QID: 111 - In a row of 74 girls, Shweta is 27t from left end. Palak is 7t to the right of Shweta. What is Palak's position from the right end of the row?

74 STfoRat fr Te dferd #, 29T 91 OR I 27-d T W &1 Teieh, AT & & 7-9 TATA W g | Toldh Hl TATT UfFd & & SR AT 3R F 37 §?

Options:
1) 40

2)41
3)42
4) 44
Correct Answer: 41

Candidate Answer: 44



QID : 112 - In the following question, from the given alternative words, select the word which can be formed using the letters of the given word.

CAPITULATE
& a7 e &, emrfafd Reedl & & 95 e IfAT S AT 970 2reg & 3Rt AT TA1eT Fdeh ST ST el 1

CAPITULATE

Options:
1) CAPABLE

2) LUPIN
3) PITTY

4) TALE
Correct Answer: TALE
Candidate Answer: LUPIN

QID : 113 - In a certain code language, "BIOLOGY" is written as "YRLOLTB". How is "PHYSICS" written in that code language?

s faftrse #Is s &, "BIOLOGY" &Y "YRLOLTB" for@r ST &1 58 i $1wT & "PHYSICS" & 78 wehR for@r siream?

Options:

1) KSXRBHH
2) KSBHRXH
3) XHRHBSK
4) KSBHXRH

Correct Answer: KSBHRXH
Candidate Answer: KSBHRXH

QID : 114 - In the following question, correct the equation by interchanging two signs.
6+8+4-4=8
rAfaf@a geaT 7 ey & RAegl ff REW e G 1T FHEaoT FH TEr ffST|

6+8+4-4=8
Options:

1) +and =

+dur =

2) +and +

- dur +

3) +and -

LG LR

4) + and -

+dur—

Correct Answer: + and —
+ YT -

Candidate Answer: + and —
+ dUr -

QID:115-If4x9x3 =4and 5x3 x1 = 3, then

9x9x7="?
IE4x9x3=4aa5x3x1=3¢,dr

9x9x7=7?
Options:

1)5

2)6

3)7

4)9

Correct Answer: 5
Candidate Answer: 7



QID: 116 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

TR vy # G or Reeeut 7 Ty B
(?)& TUH W FA e = Y gET)

3 5 5
(4|88 7] [2]104]6] [7] 2] 8]
5 8 3
Options:
1) 108
2) 112
3) 118
4) 120

Correct Answer: 120

Candidate Answer: 112

QID:117-

How many rectangles are there in the given figure?

& a3 wpfa & fraar 3T €2

Options:
1)9

2) 10
3) 11

4) 12
Correct Answer: 11
Candidate Answer: 9




QID : 118 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All cups are plates.
II. Some plates are glass.

Conclusions:

1. Some glasses are cups.
II. All glasses are cups.

A T T geeT F 5 U 3R 3% A1E 3 YA W IR Fo forseny faw 1w §, greifes 3037 @ A1 aeai § Bewtar g Fach g1 Tl Ty ug 3l
i &t o v 1w #ler & e, T a1v et & 3maR o gfaawend &1

HYe:

LafrFg e |
II. F& Toie T § |

oSy

LFTIAFHTE |

I T ST 9 § |

Options:

1) Only conclusion (I) follows.

el fashy (1) @Er 8

2) Only conclusion (II) follows.

el sy (1) e &1

3) Neither conclusion (I) nor conclusion (II) follows.

o forses (1) o & sy (11) w8 &1

4) Both conclusions follow.

arer € forsehy TEr E |

Correct Answer: Neither conclusion (I) nor conclusion (II) follows.
& ar faseny (1) o & frsewy (11) | &

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

o ar frswy (1) o & sy (I1) @8 &

QID:119-

Options:
1)

2)
3)

4)
Correct Answer:
Candidate Answer:

QID : 120 - Identify the diagram that best represents the relationship among the given classes.

Complex number, Integer, Natural number
g6 3G AT S A U arv gait & v & deier &1 @8y fAwqor e g

wftr wEan, qoits, s fas dear



Options:
1)

2

(@
@

Correct Answer:
Candidate Answer:

QID: 121 -

Options:
1)
2)

3)

4)

%

Correct Answer:

Candidate Answer:

QID:122-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& % 3R HpEE F ¥ 37 Fe & gAw
orm & oy @ BT &

H




Options:
1)

2)

3)

4)

Correct Answer:
Candidate Answer:

QID:123-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

o F uy FEpladl # REmw sger #ee &
Az Sea I Wied & 915 g g I FTea
s s gem?

+ /|l

Options:
1)

4)
Correct Answer:
Candidate Answer:



QID:124-

If @ mirror is placed on the line AB, then which of
the answer figure is the right image of the given
figure?

ofg T 0T @ AB I@T wT T@m Im, & & o
T WA A T FiF @ dEa Uy e &
e ufafesa gefre

Options:
1)

2)

3)

4)

2 2 &

Correct Answer:

%%

Candidate Answer:

£

QID: 125-

Options:
1) 00, 78, 13, 67, 23

2) 12, 59, 01, 55, 10
3) 24, 97, 20, 86, 31

4) 43, 66, 44, 98, 43
Correct Answer: 00, 78, 13, 67, 23
Candidate Answer: 00, 78, 13, 67, 23



QID : 126 - 'Neo-Malthusian Theory' is associated with which of the following?

- Fe e Rgter Trfole & R weifere &2
Options:

1) Employment

TR

2) Poverty

T

3) Resource scarcity

FHTT ST FAT

4) Income

3T

Correct Answer: Resource scarcity
T T FeT

Candidate Answer: Resource scarcity
FHTHT & HAT

QID:127-

Options:
1) 1-b, 2-¢, 3-a

2) 1-c, 2-3, 3-b
3) 1-a, 2-¢, 3-b

4) 1-c, 2-b, 3-a
Correct Answer: 1-b, 2-c, 3-a
Candidate Answer: 1-a, 2-c, 3-b

QID : 128 - How many Fundamental Duties are mentioned in Indian constitution?

SR TfFEn 7 fder 7o aea sfeafaa §2
Options:

1) Five

CIG)

2) Seven

ard

3) Nine

At

4) Eleven

IIRE

Correct Answer: Eleven
IIARE

Candidate Answer: Nine

&t

QID : 129 - Part IV of constitution of India deals with which of the following?

AR gt &1 7797 IV eifaiad 7 & foras dafia &2
Options:

1) The Union

g

2) The States

Ricz)

3) Fundamental Rights

HAiforw 3R

4) Directive Principles of State Policy

T & Aifd Aéers daca

Correct Answer: Directive Principles of State Policy

T & Afa A aca

Candidate Answer: Fundamental Rights

Fiferw MR



QID : 130 - Who gave the slogan 'Back to the Vedas (Vedo ki aur lauto)'?

'Jey 1 3R witer FT ART e T ar?
Options:

1) Guru Nanank Dev Ji

& Al ga it

2) Dayanand Saraswati

gITeg qIEA

3) Swami Vivekananda

T faaehleic

4) Raja Ram Mohan Roy

TS A Alged T

Correct Answer: Dayanand Saraswati
gaTeg qIEA

Candidate Answer: Raja Ram Mohan Roy
ST TH Algel AT

QID : 131 - Todarmal was the famous revenue minister of which Mughal Emperor?

SSTH, Foh I AT 1 T Ag e HAT A?
Options:

1) Shah Jahan

Qg &

2) Bahadur Shah Jafar
CRICASNIAC R

3) Akbar

3HhaT

4) Aurangzeb

IR

Correct Answer: Akbar
3HhaT

Candidate Answer: Akbar
HhsT

QID : 132 - Gravitational force is maximum at which of the following place?

rAfaf@d # @ e Ture T Jecarsyor g Jod 31fer 82
Options:

1) At equator

AT 1@ W

2) At tropic of cancer

i W@ |

3) At tropic of Capricorn

HF W@ RN

4) At poles

CRECI

Correct Answer: At poles

& Y@ R

Candidate Answer: At equator
AT TG W

QID : 133 - Which of the following device is used to measure humidity?

FAfaf@d 7 & i & T FT I3RT AEAT A AT & e fvam siar g2
Options:

1) Hydrometer

SaEsTcaATIr

2) Hygrometer

STEATATIY

3) Psycho Meter

HATHATAATIY

4) Anemometer

EECECIEIE

Correct Answer: Hygrometer

ST ATATEY



Candidate Answer: Hygrometer

3G arATd

QID : 134 - Which of the following disease is caused by female Anopheles mosquito?

Arfaf@a 7 & @i @ A ATET 3=Thellsl AeoX & HROT 8l 67
Options:

1) Chicken Pox

IaH

2) Malaria

Helam

3) Black Fever

hlell Td¥

4) Cholera

g

Correct Answer: Black Fever
hlell d¥

Candidate Answer: Cholera

=l

QID : 135 - Which part of the plant gives us saffron?

Tier T Sl AT AT HFER T 87
Options:

1) Roots

EC

2) Petals

. ﬁ. o

3) Stem

GG

4) Stigma

T (Reeaam)

Correct Answer: Stigma
Y (Reaam)

Candidate Answer: Stem
=G

QID : 136 - Which of the following transports water from the roots of the plant to its leaves?

ﬁmﬁ@aﬁﬁﬁaﬁﬁ@raﬁﬁmﬁmwaﬂﬁaﬂb
Options:

1) Xylem

ars (Sgers)

2) Phloem

el (FelTTa)

3) Both xylem and phloem

T (TSI TAT Todhel (FeTTH) et

4) Cortex

T 3727dT STS T 3Ta0T

Correct Answer: Xylem

are (SserH)

Candidate Answer: Both xylem and phloem

S (STTSAH) TUT dodhel (FelTTH) ST

QID : 137 - Which of the following is not a vector quantity?

Feafaf@a & & FiF v afeer amEr 787 82



Options:

1) Momentum

3maer

2) Displacement
[Cralierl

3) Torque

eeo (1)

4) Speed

afy

Correct Answer: Speed

aifa

Candidate Answer: Speed

aifa

QID : 138 - At what temperature (in Fahrenheit) pure water freezes?

Y€ STol fohE ATTHT (PRAETSE H) W STH STl 87

Options:
1) 32

2)0
3) 48

4) 37
Correct Answer: 32
Candidate Answer: 0

QID : 139 - In which graphics, digital photos and scanned images are typically stored with extensions such as.bmp, .png, .jpg, .tif or.gif?

Tore anfthere 3 BfScer Bier aur Tha $1 718 Sf3At FY .bmp, .png, .jpg, .tif or.gif ST TAR IT TFAET & TTY 3 AR R Fafed ar Srar 87
Options:

1) Bitmap

T

2) Pixels

Reraed

3) Plane

Tolel

4) Both Bitmap and Pixels
ey g Rege ger
Correct Answer: Bitmap

AT

Candidate Answer: Pixels

e

QID : 140 - Process of gaining electrons is known as

SoleFalel Y UIcd el ST AT R &g &
Options:

1) oxidation

JiferefieRRoT

2) reduction

T

3) radiation

[GIEzU

4) both oxidation and reduction
STFERROT TUT TTTI Gl
Correct Answer: reduction
keppe

Candidate Answer: radiation

TafeoT

QID : 141 - Which of the following metal (shown by its symbol) is generally used for making filaments of bulb?

Frafaf@a # @ i @ arqg (roe FRes @ qafar /) &7 aHead: Sod 7 dog a1 fAarie deftet 7 39T g 82



Options:
1) Fe

2) An
3) Ag

4H W
Correct Answer: W
Candidate Answer: Fe

QID : 142 - Which of the following trees shed their leaves once in a year?

frafafa & & Fia & ga7 a¥ 7 v IR el afeaat TR & 82
Options:

1) Deciduous trees

quidrelt g7

2) Coniferous trees

AFEr gat

3) Evergreen trees

HeTaeR g&T

4) Both deciduous and coniferous trees
qoTarelt gaT T QT g et
Correct Answer: Deciduous trees
quidrel g7

Candidate Answer: Evergreen trees
HETTER &7

QID : 143 - The Entrepreneurship Development Scheme (EDS) has been launched under New Economy Development Policy (NEDP) on January 19, 2017 at .

7% yr¥eaer fadmm A (v, §. 2 o) & 3ideta 19 Faadl 2017 3 SEfAar faere Aisra (3.3).04.) &7 YH3et fpam ar g
Options:

1) New Delhi

% ot

2) Mizoram

HIRA

3) Gujrat

pERC

4) Uttar Pradesh

3ca T

Correct Answer: Mizoram

HeIR#

Candidate Answer: Gujrat
ST

)

QID : 144 - Who invented Dynamite?

SISATHTSC T TASHR fordeT fomaT?
Options:

1) J B Dunlop

St & SeTed

2) Alfred Nobel

37eIh8 Alsel

3) James Simons

S AT

4) Peter Hargreaves

Yrex gRaftest

Correct Answer: Alfred Nobel
37eIhS Alsel

Candidate Answer: ] B Dunlop
S & ST

QID : 145 - 'Rovers cup' is associated with which of the following sport?

A5G FI AT F § e O § e ¥



Options:
1) Football

{

;) Hockey
glehT

3) Golf
Me®

4) Basketball
STERCETT

Correct Answer: Football

ECI)

9
Candidate Answer: Basketball

rEheater
QID : 146 - Dandia is a form of dance associated with which of the following state?

SifEa o e Peafafa #  fre Tor & waftra 87
Options:

1) Haryana

g

2) Punjab

Croic)

3) Gujarat

TR

4) Rajasthan

TS EITT

Correct Answer: Gujarat
IR

9
Candidate Answer: Gujarat
IS

)

QID : 147 - Who among the following was awarded with Dhronacharya Award 2016 in the field of 'Swimming (Lifetime)'?

FrAfaf@a # @ frd 'ORrhT (Shastenrer)' & 819 3 2016 & S0 REHR ¥ GFATfoia R aram ar?
Options:

1) Shri Raj Kumar Sharma

A TAFHAR 2

2) Shri Sagar Mal Dhayal

A AER A Tl

3) Shri S. Pradeep Kumar

A TE. 54T FAR

4) Shri Nagapuri Ramesh

AT AT AT

Correct Answer: Shri S. Pradeep Kumar
A TE. 54T FAR

Candidate Answer: Shri Nagapuri Ramesh

AT AT AT

QID : 148 - 'Ace Against Odds' is an autobiography of which sports person?

U 3PEe ATger fFa Ryemsdy fr smcasmar &7
Options:

1) Vishwanathan Anand
TR 37Teig

2) Sania Mirza

e s

3) Abhinav Bindra

31fdeTa Ngr

4) Anjali Bhagwat

Jfor AmTEa

Correct Answer: Sania Mirza

arferar A

Candidate Answer: Anjali Bhagwat
JiSifer HRTEd



QID : 149 - Under the framework of the new partnership with which country, Victory University will help India to Establish a National Sports University?

TR &2r & AT FT 375 5 FIEIGRT & rd & HAId [AFeIRAT faRafaearerd R H TSET Tl TaRafaeaTerd & ISeT H HEANRT HE?
Options:

1) Portugal

gearel

2) Australia

siteeforam

3) Vietnam

aadea

4) USA

TYF T AT
Correct Answer: Australia

sitee o

Candidate Answer: Australia

Jireeferar
QID : 150 - With which country India exchanged its border maps?

AR ¥ ToheT 2T o AT 39T AIAT ATATIAT T ITGell-agell ol 2AT?
Options:

1) China

AT

2) Sri Lanka

HroiepT

3) Pakistan

qrfeREdte

4) Bangladesh

ClERICH

Correct Answer: Bangladesh
e

Candidate Answer: China

T

QID : 151 - What least value which should be added to 1812 to make it divisible by 7, 11 and 14?

1812 31 BIET ¥ BICT T HieT VI AT SIS AT, Al I§ 7, 11 qAT 14 § qoid: fFenfara g sme?
Options:

1) 12

2)36

3)72

4) 154

Correct Answer: 36

Candidate Answer: 36

QID: 152 - A'is 1.5 times efficient than B therefore takes 8 days less than B to complete a work. If A and B work on alternate days and A works on first day, then
in how many days the work will be completed?

A, B 1.5 [0 FHREFRI §, SHAT a5 T HId FT O ot # B H 8 et &7 AT 1 A TUT B TahicR feretl o) 1 el § il A Frd Y G5l foret &ttt 8, ot e foveer
&1 3 g 81 Srwam?

Options:

1) 17

2) 19

3)19.5

4)21

Correct Answer: 19

Candidate Answer: 21

QID : 153 - One of the diagonal of a rhombus is 70% of the other diagonal. What is the ratio of area of rhombus to the square of the length of the larger diagonal?

Th FAUYST T Ueh TR0t @ fashol 1 70% &1 FHagelst & erAthel T o faeshol il ofeeTs & a9t T Jegurel 41 87

Options:
1)3:10
2)3:20
3)7:20
4)7:10
Correct Answer: 7 : 20



Candidate Answer: 3 : 10

QID : 154 - A shopkeeper sells a table at a discount of 20% and earns a profit of 60%. If he sells the same table at 40% discount, then what will be his new profit
percent?

Teh GHIIGR Teh ¢oel T 20% I BT I TIF 60% T o1 FATAT &1 TG I 3T STl AT 40% T T T I §, AT SHEHT AT AT FTIRAT FAT FIIM?
Options:

1) 20

2) 30

3)35

4)40

Correct Answer: 20

Candidate Answer: 40

QID : 155 - If A/3 = B/2 = C/5, then what is the value of ratio (C + A)% : (A + B)2 : (B + C)2?

afe A/3 = B/2 = C/5, @ (C+ A% : (A + B)? : (B + C)? & 3HeJdTcl il AT T graTT?
Options:

1)9:4:25

2)25:4:9

3)64:25:49

4)49:25: 64

Correct Answer: 64 : 25 : 49

Candidate Answer: 64 : 25 : 49

QID : 156 - 5 years ago the average age of a family which includes father, mother and a son was 35 years. 3 years ago the average age of father and mother was
46 years. What is the present age (in years) of the son?

5 a§ qd U IRaR Forea Arar, far aur v g7 ¥, 3R 3ia 3mg 35 a¥ o) 3 9§ g A qur R S 3T 3mg 46 a¥ o) gF Y g 31 (ast 7) Bhae §?
Options:

1)20

2)24

3) 26

4) 22

Correct Answer: 22

Candidate Answer: 22

QID : 157 - The cost price of 60 articles is same as the selling price of x articles. If there is a profit of 20%, then what is the value of x?

60 TEI3HT T T Hed x TEGIHT & [ha Hed & SR &1 I 20 Gfera 1 oey gelm &, o x 7 Al &1 82
Options:

1) 15

2) 30

3) 50

4) 80

Correct Answer: 50

Candidate Answer: 30

QID : 158 - A person scores 45% of the total marks in the exam and still fails by 40 marks. The passing percentage of the exam is 55%. What is the maximum
marks of the exam?

T i Ueh GET & Frol 37ehl T 45% 3Heh TTCcl T § T 40 3ehT F 3FT3ccliol g1 SITalr ¢ I&T  Sechoh g1t & foIw 55% 37k =fgT| Iet & 3ifrehca 3ieh ey
&

Options:

1) 300

2) 350

3) 400

4) 500

Correct Answer: 400
Candidate Answer: 350

QID : 159 - A man starts running from point P at 11:00 a.m. with a speed of 10 km/hr. He runs for 2 hours and then takes a 1 hour rest. He continues this till he is
caught by another man who starts at 2:00 p.m. from point P and runs non-stop at a speed of 15 km/hr towards the first man. At what time (in p.m.) will the first
man be caught?

Teh Saferd 10 T . gfcy ger &7 911 & 11 qafieet (T. va.) W foig P & Slsar & il &1 g 2 € atsam § 3R T 1 €er IR X §1 98 AT o deh el § S oo
TE T qER STl SaRT GohsT g1 STl &, ST 2 3oRreet (W, vA.) W foig P & algem & Yar & aur ag 15 ., gfa der &1 a1 & uger safea it o’ el &b glsar
&1 Igon cafed fhde gt (3TIRTE=T &) UehaT SIAem?



Options:
1) 6:20

2) 4:40
3) 6:00

4) 5:30
Correct Answer: 4:40
Candidate Answer: 6:20

QID : 160 - The difference of compound interest and simple interest for 3 years and for 2 years are in ratio 23 : 7 respectively. What is rate of interest per annum
(in %)?

399 % o aur 2 a¥ & ford whgfe saTer iR AIIROT s37ST & Sfir &7 R T 3eTUTd Al 23 @ 7 §| SIS & arfder &3 (% #) Fhialr 82
Options:

1) 200/7

2) 100/7

3) 300/7

4) 400/7

Correct Answer: 200/7

Candidate Answer: 100/7

QID : 161 - If (x%/yz) + (y2/zx) + (z%/xy) = 3, then what is the value of (x + y + z)3?

fe (x2/yz) + (Y2/zx) + (23/xy) = 3, @ (X + y + z)° o0 AT F4T grT?
Options:

1)0

2)1

3)2

4)3

Correct Answer: 0

Candidate Answer: 0

QID:162-If x4 4 x4 = 2, then what is the value of x31 + (1/x81)?

g x4 + x4 = 2, ar x8L + (1/x8L) T AT &/ gem?
Options:

1)-2

2)0

3)1

4)2

Correct Answer: 2

Candidate Answer: 0

QID:163-Ifa(@a+b+c) =45 b(a+b+c)=75and c(a + b + c) = 105, then what is the value of (a2 + b? + c2)?

Ffida(@+b+c)=45ba+b+c)=75aurc@a+b+c) =105, a (a2 + b2 + c2) & AT 4T EM?
Options:

1)75

2) 83

3) 217

4) 225

Correct Answer: 83
Candidate Answer: 75

QID : 164 - If X2 + (1/x%) = 1, then what is the value of x*8 + x*2 + x36 + x30 4 x2% 4 x18 4 12 4 46 1 17

IR X2 + (1/x2) = 1, aAr x® + x¥2 4+ x36 4 x30 4 %24 4 18 4 %12 4 %6 4 1 T AT AT g
Options:

1)-9

2)0

3)1

4)9

Correct Answer: 1

Candidate Answer: 1

QID : 165 -



Options:
1) 170

2) 182
3) 189

4) 191
Correct Answer: 189
Candidate Answer: 189

QID: 166 -
In the given figure, PQR is an equilateral triangle

and PS is the angle bisector of ~/P. What is the
value of RT : RQ?

& 7% P #, PQR UF HAaTg e ¥ g
PS, /P &T&T TATSS &1 RT: RQ &7 AT =T

&7

Al
(R Sl I
| “//
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/ ///
£
T
Options:
1)1:2
2)1:1
3)2:1
4)1:3

Correct Answer: 1: 1
Candidate Answer: 1:1

QID : 167 - Two chords of length 20 cm and 24 cm are drawn perpendicular to each other in a circle of radius is 15 cm. What is the distance between the points of
intersection of these chords (in cm) from the center of the circle?

15 Q7. T Fisam arel veh god & 20 QA TUT 24 QA Y & STt B U g@ W ead Widr ST 8| Jood & e U7 g SN Y Hlea drer [§g 3 & Hr gl
(F.70, &) Tohcet &2

Options:
1)
2)

4182

3)
4)

+218

Correct Answer:
Candidate Answer:

QID : 168 -



Options:
1)3

2)7
3)9

4) 15
Correct Answer: 7
Candidate Answer: 9

QID : 169 - What is the simplified value of sin? (90 - 8) — [{sin(90 — B)sin B}/tan 6]?

sin? (90 - 8) — [{sin(90 — B)sin B}/tan 6] &T T HIT AT §?
Options:

1)1

2) cosec 6

3)0

4) cos 6
Correct Answer: 0
Candidate Answer: 0

QID:170 -

Options:
1)sin6

2)1-sin 26
3)1+sin 26

4)1-sin6
Correct Answer: 1 —sin 26
Candidate Answer: sin 6

QID: 171 -If 5sec 8 — 3 tan 6 = 5, then what is the value of 5 tan 8 — 3 sec 6?

g 5sec@—3tan B =5, a5 tan 8 — 3 sec B T AT FAT gRIT?
Options:

11

2)2

3)3

4) 4

Correct Answer: 3

Candidate Answer: 3

QID:172-

What is the difference (in crores) in population of the most and the least populated country?

Y 31TAH TUT T FH STATEAT dTel &2 & FIT SFTAEEAT 7 Fhdar 3R (Fs 7) 82

Options:

1) 18

2)32

3)34

4) 36

Correct Answer: 36
Candidate Answer: 32

QID: 173 -
What is the total GDP (in crore dollars) of country 5?

22T 5 T Fol Fehol T 3cT1e (M. 1. 1) (F13 Sler &) fovciaT 82



Options:
1) 27120

2) 31640
3) 38280

4) 44660
Correct Answer: 31640
Candidate Answer: 44660

QID: 174 -
What is the total GDP (in crore dollars) for the country with the third lowest per capita income?

Al G A T AR 3T aTe) 237 T ol Fhel T 3T (M. 21, 1. (I3 STer &) e 82

Options:
1) 181900

2) 108460
3) 145200

4) 164560
Correct Answer: 164560
Candidate Answer: 164560

QID:175-

Which country has the highest total GDP?

T3 &2 T ol Fehol B 3cUTe; (. 3. o) Hary 31ferh 2
Options:

1) Country 1

g1

2) Country 2

g2

3) Country 3

g3

4) Country 8

ger s

Correct Answer: Country 3
ger3

Candidate Answer: Country 3
o3

QID : 176 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No error'.

Hardly had I reached the (1)/ exhibition where I learnt (2)/ about the major robbery. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 2

QID : 177 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No error'.

No sooner did the sun rise (1)/ when we resumed the journey (2)/ after having a hasty breakfast. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 4



QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

He to the problem of air pollution in his speech.
Options:

1) averted

2) adverted

3) exclaimed

4) mentioned

Correct Answer: adverted

Candidate Answer: mentioned

QID : 179 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Rohan is so magnanimous that everyone is always to help him in his project.
Options:

1) eager

2) enthusiastic

3) reluctant

4) ignorant

Correct Answer: eager

Candidate Answer: enthusiastic

QID : 180 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Succulent

Options:

1) Sucking

2) Soft

3) Juicy

4) Pale

Correct Answer: Juicy

Candidate Answer: Pale

QID : 181 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Congregation
Options:

1) Discussion
2) Attention

3) Contraction
4) Assembly

Correct Answer: Assembly
Candidate Answer: Discussion

QID : 182 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Evanescent
Options:

1) Enticing
2) Fleeting
3) Erratic

4) Elusive

Correct Answer: Enticing
Candidate Answer: Enticing

QID : 183 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Panegyric
Options:
1) Noxious
2) Criticism
3) Fantasy
4) Grandeur

Correct Answer: Criticism
Candidate Answer: Fantasy

QID : 184 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

To put a spoke in one's wheel



Options:

1) To be advantageous at the time of difficulty
2) To maintain under all circumstances

3) To blame the other party

4) To put a difficulty in the way of progress

Correct Answer: To put a difficulty in the way of progress
Candidate Answer: To blame the other party

QID : 185 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

At loggerheads

Options:

1) To suffer

2) In conflict with someone
3) To face tough competition
4) To be in do or die situation

Correct Answer: In conflict with someone
Candidate Answer: To face tough competition

QID : 186 - Improve the bracketed part of the sentence.

She is (the best and wisest) girl in the class.
Options:

1) best and wisest

2) a best and a wisest

3) the best and the wisest

4) No improvement

Correct Answer: the best and the wisest
Candidate Answer: No improvement

QID : 187 - Improve the bracketed part of the sentence.

The people of Japan are (wiser than America.)
Options:

1) wiser than that of America.

2) wiser than those of America.

3) wiser to that of America.

4) No improvement

Correct Answer: wiser than those of America.
Candidate Answer: wiser than that of America.

QID : 188 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

One skilled in telling stories
Options:

1) Ventral

2) Fanatic

3) Raconteur

4) Tyro

Correct Answer: Raconteur
Candidate Answer: Fanatic

QID : 189 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Fear of Fire

Options:

1) Arsonphobia

2) Astraphobia

3) Astrophobia

4) Arrhenphobia

Correct Answer: Arsonphobia
Candidate Answer: Astrophobia

QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Hygeine

2) Fascist

3) Career

4) Apparel

Correct Answer: Hygeine

Candidate Answer: Apparel



QID : 191 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Reside

2) Revise

3) Advise

4) Demice

Correct Answer: Demice

Candidate Answer: Demice

QID : 192 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: He raised his voice against idol-worship.

Q: People are generally very open and accept social changes with a positive attitude.
R: Swami Dayanand Saraswati is remembered with reverence and affection among the social reformers of the nineteenth century.
S: India is a country which respects spiritualism much more than materialism.
Options:

1) QRSP

2) PRSQ

3) RSPQ

4) SQRP

Correct Answer: SQRP

Candidate Answer: QRSP

QID : 193 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: For that we need people who possess not only high skills but high values as well.

Q: So the need of the hour is not only skill-based education but also value-inspired and value-based education.
R: When we talk of investing in education, a question arises as to what kind of education needs to be given to the youngster.
S: Our aim is to evolve not only an affluent society, but an egalitarian, just, humane and compassionate society.
Options:

1) SPRQ

2) PRQS

3) RQSP

4) RSPQ

Correct Answer: RSPQ

Candidate Answer: RSPQ

QID : 194 - In the following question, a sentence has been given in Active/Passive voice. Out of four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

Please guide me.

Options:

1) You are requested to guide me.

2) You have been requested to guide me.

3) You were requested to guide me.

4) You are being requested to guide me.

Correct Answer: You are requested to guide me.
Candidate Answer: You are requested to guide me.

QID : 195 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The teacher said, "The Earth revolves around the sun."

Options:

1) The teacher said that the Earth is being revolving around the sun.

2) The teacher said that the Earth revolves around the sun.

3) The teacher said that the Earth revolved around the sun.

4) The teacher said that the Earth had been revolving around the sun.
Correct Answer: The teacher said that the Earth revolves around the sun.

Candidate Answer: The teacher said that the Earth revolves around the sun.

QID : 196 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The of energy in India are met from both commercial and non commercial sources. The most sources of energy today are coal and natural gas, hydro
electricity and nuclear power. On the other hand, firewood, cow-dung cakes and vegetable waste etc. non commercial forms of energy. While non commercial
forms of energy demand, coal is the source of commercial energy in India.

The of energy in India are met from both commercial



Options:

1) requirements

2) sources

3) availability

4) lessen

Correct Answer: requirements

Candidate Answer: sources

QID : 197 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The of energy in India are met from both commercial and non commercial sources. The most sources of energy today are coal and natural gas, hydro
electricity and nuclear power. On the other hand, firewood, cow-dung cakes and vegetable waste etc. non commercial forms of energy. While non commercial
forms of energy demand, coal is the source of commercial energy in India.

and non commercial sources. The most sources of energy today are coal and natural gas

Options:

1) vital

2) insignificant

3) important

4) expensive
Correct Answer: important
Candidate Answer: vital

QID : 198 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The of energy in India are met from both commercial and non commercial sources. The most sources of energy today are coal and natural gas, hydro
electricity and nuclear power. On the other hand, firewood, cow-dung cakes and vegetable waste etc. non commercial forms of energy. While non commercial
forms of energy demand, coal is the source of commercial energy in India.

On the other hand, firewood, cow-dung cakes and vegetable waste etc.
Options:

1) constitutes

2) combines

3) mixes

4) collaborates

Correct Answer: constitutes

Candidate Answer: collaborates

non commercial forms of energy.

QID : 199 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The of energy in India are met from both commercial and non commercial sources. The most
electricity and nuclear power. On the other hand, firewood, cow-dung cakes and vegetable waste etc.
forms of energy demand, coal is the source of commercial energy in India.

sources of energy today are coal and natural gas, hydro
non commercial forms of energy. While non commercial

While non commercial forms of energy
Options:

1) need

2) meet

3) shed

4) rests

Correct Answer: meet

Candidate Answer: shed

demand,

QID : 200 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The of energy in India are met from both commercial and non commercial sources. The most sources of energy today are coal and natural gas, hydro
electricity and nuclear power. On the other hand, firewood, cow-dung cakes and vegetable waste etc. non commercial forms of energy. While non commercial
forms of energy demand, coal is the source of commercial energy in India.

coal is the source of commercial energy in India.
Options:

1) smallest

2) hardest

3) largest

4) heaviest

Correct Answer: largest

Candidate Answer: largest





